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I o Watch Video Solution

A B C
2. IfA:B:C=2:3:4,th hat is —: —: —
enwalsB o
equal to?
o Watch Video Solution
3. If

A:B=1:2,B:C=3:4and C:D =5:6

find D: C: B :A

° Watch Video Solution



https://dl.doubtnut.com/l/_qLAL5SWeGTcb
https://dl.doubtnut.com/l/_0DExAUXliutZ
https://dl.doubtnut.com/l/_5lDoDFUh4AjX

4. Devide 170 into three parts such that the first
part is 10 more than the second and its ratio

with the third part iis 2: 5

° Watch Video Solution

5. The ratio of a father's age to his son's age is
4: 1. The product of their ages is 196. What is

the ratio of their ages after 5 years.

° Watch Video Solution



https://dl.doubtnut.com/l/_1zMsVF20eG4V
https://dl.doubtnut.com/l/_fTqd9MePKVqE
https://dl.doubtnut.com/l/_Wd4IYa21CGuy

6. If the ratio of boys to girls in a class is B and
the ratio of girls to boys is G, then 3 (B+ G) is
equal to 3

(b) less than 3

(c ) more than 3

1
(d) less than 3

° Watch Video Solution

7. In @ maximum of 45 litres, the ratio of milk
and water is 4 : 1 How much water must be

added to make the mixture ratio 3: 2?

| ninl,l,l,|",l,,n,l n®


https://dl.doubtnut.com/l/_Wd4IYa21CGuy
https://dl.doubtnut.com/l/_T2LjKzbYnZp5
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8. In a class , the number of girls is 20% more
than that of boys. The strength of the class is
66. How many more girls must be admitted to
the class, so that the ratio of the number of

boys to that of the girls becomes 2 : 3

° Watch Video Solution

9. When rupes 4572 is divided among AB and C

such that three times of A's share is equal to 4


https://dl.doubtnut.com/l/_T2LjKzbYnZp5
https://dl.doubtnut.com/l/_tSPlHebcdsJ6
https://dl.doubtnut.com/l/_PnNeryE6uFSI

times of B's share is equal 6 times C's share.

What is A's share ?

° Watch Video Solution

10. A bag contains 50 paise, 1 rupee and 2 rupee
coins in the ratio 2 : 3: 4 . If the total amount is

rupes 240 what is the total number of coins?

o Watch Video Solution

Question Bank 15


https://dl.doubtnut.com/l/_PnNeryE6uFSI
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https://dl.doubtnut.com/l/_6ziNKVD466aB

1.IfA:B=5:2,B:C=2:3and C:D=5:3, then

theratio A:B:C:Dis

A .25:10:15:9

B.10:5:3:2

C.15:5:3:2

D.25:10:15:3

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_6ziNKVD466aB

2.

P:Q=2:3,QQ:R=5:7and R:5=3:10

thenP:S=7?

A 1:5

B.1:7

C.3:2

D.6:15

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_QE6miuDM5pMw

3a + 5b
3a — 5b

3.If

= 5,then a: b is equal to

A2:1

B.5:3

C.3:2

D.5:2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_tQOVvg40AIwQ

4, If

1 3 1 5 5 3
A-B:E-g,B-C=§.§andC.D:€.Z,

then the ratio A:B:C:D is 4:6:8:10 b.
6:8:9:10¢c.8:6:10:9d.6:4:8:10
A.6:4:8:10
B.6:8:9:10

C.8:6:10:9

D.4:6:8:10

Answer: C

0 Watch Video Solution



https://dl.doubtnut.com/l/_PPu6LDXJMRKZ

5.Ifa:b=3:5andb:c=6:2,finda:b:c

A.4:9:45

B.9:15:5

C.16:36: 20

D.4:36:20

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_PPu6LDXJMRKZ
https://dl.doubtnut.com/l/_ofwlKodwRISf

6.1fa:b=2:5,then ( 3a+ 4b) : (5a +6b) is equal
to

A.13/20

B.26 /33

C.16/27

D.18/35

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_NNJXoVFWyFi1

2a 45 = 3, the value of ath

7. If
a + 4b a + 2b

is equal

to

o >
\]|5 ©|5 NS o ©of o

N

o

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_7M4Xqxasjq3m

8. The number of boys is more than the number
of girls by 12% of the total strength of the class.
The ratio of the number of boys to that of the
girls is

Al11:14

B.14:11

C.25:28

D. 28: 25

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ip6VBZZHf50Y

9. The ratio of the number of ladies to that of
gents at a party was 3: 2 when 20 more gents
joined the party, the ratio was reversed . The
number of ladies presents at the party was

A. 36

B.32

C.24

D. 16

Answer: C



https://dl.doubtnut.com/l/_ip6VBZZHf50Y
https://dl.doubtnut.com/l/_eOOk9y3DqO7j

° Watch Video Solution

10. The ratio of the ages of two boys is 5: 6

After 2 years, the ratio of their ages will be 7: 8

The ratio of their ages after 10 years will be

A.15:16

B.17:18

C.11:12

D.22:24

Answer: A

f ) |


https://dl.doubtnut.com/l/_eOOk9y3DqO7j
https://dl.doubtnut.com/l/_XVz8RIXq6gzP

° Watch Video Solution

11. the sum of three number is 116. the ratio of

the second to the third is 9: 16 and the first to

third is 1: 4 The second number is

A.30

B.32

C.34

D. 36

Answer: D



https://dl.doubtnut.com/l/_XVz8RIXq6gzP
https://dl.doubtnut.com/l/_bl0Np310rHd8

° Watch Video Solution

12. A man encashes a cheque of 600 from a
bank. The bank pays him money in 10 rupee
notes and 5 rupee notes only, totalling 72. The
ratio of the number of - 10 rupee notes to that
of 5 rupee notes is

A l:2

B.2:1

C.2:3

D.3:2


https://dl.doubtnut.com/l/_bl0Np310rHd8
https://dl.doubtnut.com/l/_IzCkpklLU5Eq

Answer: B

° Watch Video Solution

13. If 372 coins-consist.of one rupee, 50 paise
and 25 paise coins whose values are in the ratio
13:11:7, then the number of 50 paise coins will be
A. 132
B. 128

C.136

D. 133


https://dl.doubtnut.com/l/_IzCkpklLU5Eq
https://dl.doubtnut.com/l/_qX0uQCRdK8JZ

Answer: A

O Watch Video Solution

14. An amount of money is to be divided among
P, O and R in the ratio 4:7:9. If the difference
between the shares of Q and R is 500, what will

be the difference between the shares of P and

Q?

A. % 500

B.% 1000


https://dl.doubtnut.com/l/_qX0uQCRdK8JZ
https://dl.doubtnut.com/l/_nyXWU6GGMemU

C.%» 750

D. % 850

Answer: C

° Watch Video Solution

15. The ratio of Ato B is 4:5 and that of Bto C is

2:3. If A equals 800, then Cequals

A. 1000

B. 1200


https://dl.doubtnut.com/l/_nyXWU6GGMemU
https://dl.doubtnut.com/l/_0n0tYPCAcs3f

C. 1500

D. 2000

Answer: C

° Watch Video Solution

16. In a examination , the number of those who
passed and the number of those who faild were
in the ratio 25: 4 .If five more had appeared and
the number of failures were 2 less than earlier ,

the ratio of students who failed would have


https://dl.doubtnut.com/l/_0n0tYPCAcs3f
https://dl.doubtnut.com/l/_ZveqK9IBuyPx

been 22:3 . Find the total number who

appeared at the examination .

A. 145

B. 150

C. 155

D. 180

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZveqK9IBuyPx

17. The incomes of A and B are in the ratio 5:3.

The expenses of A, B and Care in the ratio 8:5:2.

If C spends 2000 and B saves 700, then A saves

A. % 1500

B. % 1000

C.% 500

D.® 250

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_gEdoVPNSx8j7

18. The speeds of three cars are in the ratio 2:3 :

4. What is the ratio between the times taken by

these cars to travel the same distance?

A4:3:2

B.2:3:4

C.4:9:16

D.6:4:3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wdrV6YYWuloC

19. The sum of the squares of three numbers

which are in the ratio 2:3:4 is 725. What are

these numbers?

A.10, 15, 20

B. 14, 21, 28

C. 20,15,30

D. 20, 30,40

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_drBjxvfhEPIS

20. 2430 are distributed among three persons

so that their shares be diminished by 5, 10 and

15 respectively, the remainder shall be in the

ratio 3:4:5. The share of C is

A. % 1015

B. % 605

C.% 810

D. % 1415

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_JJgVicwLy9qv

21. Ex. 5. Three persons A, B, C whose
salariestogether amount to 14,400, spend 80%,
85% and75% of their salaries respectively. If
their savingsare in the ratio 8 : 9: 20, find their
respectivesalaries.

A. % 3000, % 5000, % 6400

B. %3400, %4800, %6200

C.% 3200, % 4800, % 6400

D. %3000, % 5200, % 6200


https://dl.doubtnut.com/l/_JJgVicwLy9qv
https://dl.doubtnut.com/l/_saQUnlJM5KWP

Answer: C

O Watch Video Solution

22. A pot contains 81 litres of pure milk. 1/3 of
the milk is replaced by the same amount of
water. Again of the mixture is replaced by that
amount of water. The ratio of milk and water in

the new mixture is

Al:2

B.1:1


https://dl.doubtnut.com/l/_saQUnlJM5KWP
https://dl.doubtnut.com/l/_HExz8lL0DRPy

C.2:1

D.4:5

Answer: D

° Watch Video Solution

23. A mixture contains milk and water in the
ratio 5:1. On adding 5 litres of water, the ratio of
milk to water becomes 5:2. The quantity of milk

in the original mixture is

A. 16 litres


https://dl.doubtnut.com/l/_HExz8lL0DRPy
https://dl.doubtnut.com/l/_aCXnPohLRFCT

B. 22.75 litres

C. 25 litres

D. 32.5 litres

Answer: C

° Watch Video Solution

1
24. If 2 kg of metal of which 3 is zinc and rest

copper be mixed with 3 kg of metal of which is

1
Zzinc and rest copper, what is the ratio of zinc

to copper in the mixture?


https://dl.doubtnut.com/l/_aCXnPohLRFCT
https://dl.doubtnut.com/l/_JnL6YOSx5ldt

A.13:35

B.12:30

C.15:40

D.17:43

Answer: D

° Watch Video Solution

25. The number of employees in companies A, B
and C are in the ratio 3:2: 4 respectively. If the

number of employees in the three companies is


https://dl.doubtnut.com/l/_JnL6YOSx5ldt
https://dl.doubtnut.com/l/_xwnwAPL6mrZo

increased by 20%, 30% and 15% respectively,
what will be the new ratio of employees working
in companies A, B and C respectively?

A 18:13:24

B.13:18:23

C.17:13:23

D.18:13:23

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_xwnwAPL6mrZo
https://dl.doubtnut.com/l/_AIv4b0bNAtvS

26. The ratio of a 2-digit number to the sum of
its digits is 7: 1. If the digit in the ten's place is 1
more than the digit in the one's place, then the
number is

A. 65

B. 43

C. 32

D. 21

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_AIv4b0bNAtvS

27. The ratio of number of boys to that of girls
in a group becomes 2 : 1 when 15 girls leave. But,
afterward5 when 45 boys also leave, the ratio
becomes | Originally the number of girls in the
group was 20 b. 30 c. 40 d. 50

A. 20

B.30

C.40

D. 50

Answer: C



https://dl.doubtnut.com/l/_Lx0qPLsbiTeO

° Watch Video Solution

28. A grocer buys kinds of rice X and Y, one (X) at
the rate of a per kg and the other (Y) at the rate
of ¥ b per kg. He mixes them and obtains a
mixture of ¥ c per kg. What is the ratio of the

variety X to that of variety Y in the mixture?

A. (b+c): (c + a)

B.(b-c): (c + a)

C. (b-c) : (c-a)

D. (b+c) : (c-a)


https://dl.doubtnut.com/l/_Lx0qPLsbiTeO
https://dl.doubtnut.com/l/_VOAbZrub7ybg

Answer: C

° Watch Video Solution

29. The ratio of the first and second class train
fares be tween two stations is 3 : 1 and that of
the numbers of passengers travelling between
the two stations by first and second classes is
1:50. If on a particular day, Rs 1,325 is collected
from passengers travelling between the two
stations then the amount collected from the

second class passengers is :


https://dl.doubtnut.com/l/_VOAbZrub7ybg
https://dl.doubtnut.com/l/_iweAdWEF3Yo1

A. % 1250

B.% 1000

C.% 850

D.® 750

Answer: A

° Watch Video Solution

30. Two liquids A and B are in the ratio 5:1 in
container 1 and 1:3 in container 2. In what ratio

should the contents of the two containers be


https://dl.doubtnut.com/l/_iweAdWEF3Yo1
https://dl.doubtnut.com/l/_inPZTnkPm1oO

mixed so as to obtain a mixture of A and B in

the ratio 1:1?

A 2:3

B.4:3

C.3:2

D.3:4

Answer: D

o Watch Video Solution

31.Ifa:b = 3:4and b:c = 8:9,then ‘a:c="?


https://dl.doubtnut.com/l/_inPZTnkPm1oO
https://dl.doubtnut.com/l/_fZ0YX3eeKwbe

Al1:2

B.3:2

C.1:3

D.2:3

Answer: D

° Watch Video Solution

1 1
32. If; P = = 2:3:5then determine x:y:z

ce||—\

A2:3:5


https://dl.doubtnut.com/l/_fZ0YX3eeKwbe
https://dl.doubtnut.com/l/_yvNFv6y2mBcc

B.15:10:16

C.5:3:2

D.6:10:15

Answer: B

° Watch Video Solution

1
33. Two numbers are in the ratio 1—:2—. When
each of these is increased by 15, their ratio
becomes 1—:2—. The greater of the number is

3 2
27b.28 c. 36d.64


https://dl.doubtnut.com/l/_yvNFv6y2mBcc
https://dl.doubtnut.com/l/_wReIKiU93EWH

A. 27

B. 36

C.48

D. 64

Answer: C

° Watch Video Solution

34. The total value of a collection of coins of
denominations Re 1, 50-paise, 25-paise, 10-paise

and 5-paise is Rs 380. If the number of coins of


https://dl.doubtnut.com/l/_wReIKiU93EWH
https://dl.doubtnut.com/l/_h2TyskhotJp2

each denomination is the same, then the

number of one-rupee coins is (a) 160 (b) 180 (c)

200 (d) 220

A.160

B. 180

C. 200

D. 220

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_h2TyskhotJp2
https://dl.doubtnut.com/l/_g9WxncbDBst3

35. A flagstaff 17.5 m high casts a shadow of
length 40.25 m. 1 he height of the building,
which casts a shadow, of length 28.75 m under

similar conditions will be 10m b. 12.5m c.

17.5m d.21. 25 m

A.10m

B.12.5m

C.17.5m

D. 21.25m

Answer: B

O Watch Video Solution



https://dl.doubtnut.com/l/_g9WxncbDBst3

36.1f x: y=3:4,then (2x+ 3y) : (3y-2x)="7?

A2:1

B.3:2

C.3:1

D.21:1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_g9WxncbDBst3
https://dl.doubtnut.com/l/_QNZsq27XS9aw
https://dl.doubtnut.com/l/_u1iF2QfEGM6i

37. By mistake ,instead of dividing Rs.117 among

1

1 1
AB and C in the ratio 2731 It was divided in

the ratio of 2:3:4. who gains the most and by

how much?

A. A rupes 28
B. B, rupes 3
C. G rupes 20

D. G, rupes 25

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_u1iF2QfEGM6i

38. The students in three classes are in the ratio
2:3:5. If 40 students are increased in each class,
the ratio changes to 4 : 5:7. Originally the total
number of students was

A. 100

B. 180

C. 200

D. 400

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Z8FkjxJCR1hJ

Ty +
30.If x:y = 7:3, then the value of % is:
s =y

>

Wl N|w Wl | w

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Z8FkjxJCR1hJ
https://dl.doubtnut.com/l/_XmgK5puLygJg

40. rupes 750 is divided among A, B and C in

such a manner that A:B=5:2and B: C=7:13

what is A's share

A.rupes 350

B. rupes 260

C.rupes 140

D. rupes 250

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_swAkzmEupPdr

Self Assessment Sheet 15

1.Ifa:b=2:3,b:c=2:4,thena:b:c=?

A4:6:12

B.6:1:5

C.5:6:2

D.7:1:2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_9Y3jjqREPwAx
https://dl.doubtnut.com/l/_BT9Ue75YhnXT

1 1
2. If — :—=2:3:5,thenz:y:2=7?
x z

.1
Yy
A.2:3:5

B.15:10:6

C.5:3:2

D.6:10:15

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_BT9Ue75YhnXT

1
3. Two numbers are in the ratio 15 : 25- When

each of these is increased by 15, their ratio
1
becomes 1§ : 25- The greater of the number is
27b.28 c. 36 d. 64
A. 27
B. 36

C.48

D. 64

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_J5EuykLg6EJF

4. The total value of a collection of coins of
denominations Re 1, 50-paise, 25-paise, 10-paise
and 5-paise is Rs 380. If the number of coins of
each denomination is the same, then the
number of one-rupee coins is (a) 160 (b) 180 (c)

200 (d) 220

A.160

B. 180

C. 200

D. 220


https://dl.doubtnut.com/l/_J5EuykLg6EJF
https://dl.doubtnut.com/l/_6iZaOqQSfc4S

Answer:

O Watch Video Solution

5. A flagstaff 175 m high casts a shadow of
length 40.25 m. 1 he height of the building,
which casts a shadow, of length 28.75 m under

similar conditions will be 10m b. 12.5m c.

17.5m d.21. 25 m

A.10m

B.12.5 m


https://dl.doubtnut.com/l/_6iZaOqQSfc4S
https://dl.doubtnut.com/l/_V8kfpZnKFMHj

C.17.5m

D. 21. 25m

Answer: B

° Watch Video Solution

6.1f z:y = 3:4, then (2x+3y): (3y-2x) =?

A2:1

B.3:2

C.3:1


https://dl.doubtnut.com/l/_V8kfpZnKFMHj
https://dl.doubtnut.com/l/_y4m1PJZx2ZUX

D.21:1

Answer: C

0 Watch Video Solution

7. By mistake ,instead of dividing Rs.117 among

1 1
A,B and C in the ratio 2'3° 1 It was divided in
the ratio of 2:3:4. who gains the most and by

how much?

A. A, rupes 28

B. B, rupes 3


https://dl.doubtnut.com/l/_y4m1PJZx2ZUX
https://dl.doubtnut.com/l/_py9kj8VoPaGP

C. G, rupes 20

D. G, rupes 25

Answer:

° Watch Video Solution

8. The students in three classes are in the ratio
2:3:5. If 40 students are increased in each class,
the ratio changes to 4 : 5:7. Originally the total

number of students was

A.100


https://dl.doubtnut.com/l/_py9kj8VoPaGP
https://dl.doubtnut.com/l/_e5Ih5iu0Oo29

B. 180

C. 200

D. 400

Answer: C

° Watch Video Solution

Ty + y* |

9.0fz:y = 7:3, then the value of — 5 Is:
e =Yy

>

Wk x| w



https://dl.doubtnut.com/l/_e5Ih5iu0Oo29
https://dl.doubtnut.com/l/_0zGV3yPwuUyJ

N

O
Wl | w

Answer: A

° Watch Video Solution

10. rupes 750 is divided among A, B and C in
such a manner that A: B=5:2and B: C=7:13

How much is C's share more than B's share

A.rupes 50

B. rupes 130


https://dl.doubtnut.com/l/_0zGV3yPwuUyJ
https://dl.doubtnut.com/l/_EnzGRblE60WZ

C.rupes 120

D. rupes 150

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_EnzGRblE60WZ

